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Question Number : 1 Question Id : 2012982255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Where are the startup instructions for computer stored?

Options:
L % Random Access Memory

> % Read Only Memory Chip
z ® CD-ROM

4 v ROM BIOS

Question Number : 1 Question Id : 2012982255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FUET & TEEHT Ay Fer Fofed g 87
Options:

. » Random Access Memory ({57 To8® AHY)
, » Read-Only Memory Chip (Is-3=eir #ART =)
. % CD-ROM

4 v ROM BIOS

Question Number : 2 Question Id : 2012982256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Word. by default, places a tab stop at every mark on the ruler.

Options:

1 % 02"
> % 04"
= % 03"

i DS

Question Number : 2 Question Id : 2012982256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Microsoft Word, fBwiee &7 ¥, X (ATIAT) 9T i 9T U & TUH @ gl

Options:

% 02 %
, % 04§
. % 03

, v 05

Question Number : 3 Question Id : 2012982257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In MS Excel 2016, both formulas and functions must be preceded by the for Excel to understand them.

Options:

, w Hashsign

-  Equals sign
5 ® Percent sign

4 w Asterisk sign

Question Number : 3 Question Id : 2012982257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Excel 2016 &, WrHe HRX Herer Sl & 3717 g TRT a1k Excel 378 THS T
Options:

1 B %Qrﬁl??r
. X RrEa
5 » o g

Question Number : 4 Question Id : 2012982258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word 2016, you can select the format to save a document in a previous Word version.



Options:
, « Word 97-2003 Document (*.doc)

> % Word Template (*.dotx)

- » XPS Document (*.xps)

4 % OpenDocument (*.odt)

Question Number : 4 Question Id : 2012982258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS WORD 2016 # amw fmlt st & Frosr Word F5aor # Feae & T
T4 &L BFg 21

Options:

. » Word 97-2003 siegHe (+.doc)
, % Word TFeIT (+.dotx)

XPS SegHAT (+.xps)

3 ®

Open STFgHT (+.od)

i "

Question Number : 5 Question Id : 2012982259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Iy which of the following devices can vou plug various multi-port cands to provide additional access as the network
gIows In size?

Options:
1 « Switch

- u DBridge

5 % Repeater

4 % Gateway

Question Number : 5 Question Id : 2012982259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
faT s9=o & 7 B aw afafee R o w0 & BT Rfies aeiae ot F e o
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Options:

1;"%?
2.%%’3
g % ESICR

4_%@

Question Number : 6 Question Id : 2012982260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
DNS stands for

Options:
, » Dual Number System

Different Number Source

[
®

= « Domain Name Service

&,

4 % Domain Number Service

Question Number : 6 Question Id : 2012982260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
DNS %7 907 & 27 872

Options:
. & Dual Number System (g3er Y =)

, « Different Number Source (8wl =¥ dH)
. » Domain Name Service (3Re #H &faH)

, » Domain Number Service (SIA« 7 HioH)

Question Number : 7 Question Id : 2012982261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Information sent over the Internet is divided into small pieces known as

Options:



, « Dbackets
> % PPPs

= % e-mail forms

4 % Inessages

Question Number : 7 Question Id : 2012982261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FEAE T A T TR SN S SO g@s i R s e = AH T A=
ST B

Options:

1@"%

> % PPPs

| o S o

Question Number : 8 Question Id : 2012982262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
measures the capacity of communication channel.

Options:
1 # Modem

> # Width
% « Bandwidth

4 % Network

Question Number : 8 Question Id : 2012982262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

IR I $r &THIT FT ATIST 2
Options:

1_33%37




Question Number : 9 Question Id : 2012982263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
specifies rules or guidelines for data communication over computer networks.

Options:
1 « Protocol

~ % Data
= % Information

4 % Hardware

Question Number : 9 Question Id : 2012982263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FEYET HeaF W 3 TER F v Fww w Renfadyr Rfese war 8

Options:

| v SN
2 % S
5 % SATeTehIT

Question Number : 10 Question Id : 2012982264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The largest network in the world is called

Options:
1 % Web

- % Intranet



s % VPN

4 + Internet

Question Number : 10 Question Id : 2012982264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
g 7 wW 93 Acas gl e ¢l

Options:

1 B Eﬁ!’
- ® é@ﬂa—

, v AT

Question Number : 11 Question Id : 2012982265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When can two different files have the same name?
Options:

, « Ifthey are in different folders

» » Ifthey are in the same folder
= % Never

4 = Ifthe names are capitalised differently

Question Number : 11 Question Id : 2012982265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ar faf¥ea wI=al &1 T ST JTH &d & TohdT 872

Options:
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Question Number : 12 Question Id : 2012982266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
menu shows New, Open and Close commands.

Options:
1 « File

- ® Edit
= % Insert

4 % View

Question Number : 12 Question Id : 2012982266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A T (7), ‘W' (H9) 3R g FU (FAS) FAE F AT B

Options:

| v BE
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3&.33_‘9%
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Question Number : 13 Question Id : 2012982267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is a LAN?

Options:

1 % Local Access Network.

Local Advanced Network.

P2
®

&,

= « Local Area Network.

Local Alternative Network.

o
®



Question Number : 13 Question Id : 2012982267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

LAN =1 =g &7 #27 87

Options:

. » Local Access Network (Fieer To8E Aca).

., » Local Advanced Network (FieheT USATES HEa).
. » Local Area Network (sfiterel TRET feae).

, = Local Alternative Network (Sfeel 3eeiaied #Aeae).

Question Number : 14 Question Id : 2012982268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A editar or program is ong thal allows a developer to see what the end resielt will look like while the mterface or
document is being crested
Options:

, = Search & Replace

- » Pagination

5 w Soft Copy

4 v WYSIWYG

Question Number : 14 Question Id : 2012982268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
UF TH U O GH § TSE SEe ST 506 1 aEAEE aATd AT U8 SWe S A
T § & wfow ofome Far e

Options:

o R ﬁ?ﬁﬂlﬁ
z B ﬁ-ﬁﬁ

4 v WYSIWYG

Question Number : 15 Question Id : 2012982269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Computers manipulate data in many ways, and this manipulation is called

Options:
, w utilizing

» % batching

- % upgrading

4  Drocessing

Question Number : 15 Question Id : 2012982269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FUT F$ Tl F T F1 Ae-Az W &, 3R 3w A = Fed 8l

Options:

1_%;3 o, E
guﬁﬁ'ﬂ
5 % IS

Question Number : 16 Question Id : 2012982270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Personal computers can be connected together to form a

Options:
1 ® Server

- % super computer
3 « network

4, % enterprise

Question Number : 16 Question Id : 2012982270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ST FYE N ATH H A5 T TATAT ST FhaT &

Options:
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Question Number : 17 Question Id : 2012982271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which function returns arctangent of a number in MS Excel?

Options:
1 # RTAN function

> % TANR function
z % ARCTAN function

4 « ATAN function

Question Number : 17 Question Id : 2012982271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel & et g=ar 1 #f&R0T (arctangent) foFE ST & giar 27

Options:
; » RTAN Haa

> % TANR HFra
- » ARCTAN S

4 v ATAN T

Question Number : 18 Question Id : 2012982272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which fimction is only available in the menu when the cursor is placad within a paragraph of text in MS Word 20037
Options:

1 % Format

- ® Edit



o Drop cap

4 ® View

Question Number : 18 Question Id : 2012982272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Werd 2003 &, &7 § &7 T 7399 9= 72 39920 3141 § 79 F49 F1 oFT F WA &
TG HET 7

Options:

| % BIAT

S.Jﬁq’h

4.@3{

Question Number : 19 Question Id : 2012982273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which option is used to remove the drop cap altogether and return to normal text?
Options:

, % Dropped

-~ % Format
- ® Edit

4 + None

Question Number : 19 Question Id : 2012982273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » Dropped

- % Format

- w Edit



4 + None

Question Number : 20 Question Id : 2012982274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to align objects to the vertical center of the last selected object in MS PowerPoint?

Options:

1 % Alt+S5
> % Alt+1
5 « Alt+F2
4 ® Alt+3

Question Number : 20 Question Id : 2012982274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS PowerPoint # Roer Iafad fedtae & Fealuy &g H 3festoed H WAd & F v i
O &7 87

Options:

. % Alt + 5
, % Alt + 1
2 & Alt + F2

L% Alt + 3

Question Number : 21 Question Id : 2012982275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which view in PowerPoint can be used to enter Speaker Comments?

Options:

, « Notes page view

- w Design view
5 % Text view

4 % Normal view

Question Number : 21 Question Id : 2012982275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
PowerPoint & T8 =g (view) & Faar &1 feeaforar &t g=1 & =1 Fehar 87

Options:
, « Notes page view

-, » Design view

=z % lext view

4 % Normal view

Question Number : 22 Question Id : 2012982276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To legend entries on the worksheet, the cell which contams the namme of the data series, the new
nanie and press Enter in MS Excel.

Options:
» type: edit: select

1
o o edit; select; type

5 w edit; type; select

4 w Select; edit; type

Question Number : 22 Question Id : 2012982276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Excel # FaqTEas (F90e) T A= 9fafear = Fat F Fw, #w, Sws ser & gmen
= AH ZAT E 3E L, AT A1H =T AT U7 F1I
Options:

| x TS, ST =
» » UET, IT, TET
5 UISE; TET, T4

, % IO, UET IS

Question Number : 23 Question Id : 2012982277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following is the right order of events to *add axis title to a chart™ in MS Excel?
Options:
; w Click chart elements > Click Axis Title > Click anywhere in chart

> u Click anywhere in chart > Click Axis Title > Click chart elements
3 o Click anywhere in chart = Click chart elements = Click Axis Title

4 w Click chart elements > Click anywhere in chart = Click Axis Title

Question Number : 23 Question Id : 2012982277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T f e Fa ST oT, MS Excel &, e FTamr s I s Teu A o #7 H &7

Options:
1. %

TAE F Iedr W Fod FL > viEay s o Bew F > T F Far of B #:Y

o %
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Question Number : 24 Question Id : 2012982278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel worksheets, charts are NOT arranged sequentially.

Options:
1 % linked
> « embedded

5 % pie

4 % line

Question Number : 24 Question Id : 2012982278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



MS Excel FEqiEasT (Fele) H, qTE ITHAG T § STAeUd gl [T S @l
Options:

1%5%3"_6
. » TFESS
3_&3':“-&-

4_%%

Question Number : 25 Question Id : 2012982279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel. line chart with markers is used to indicate:

Options:
1 + Individual data values

> w Overordered categories

= % Trends over time

4 % Over ordinal data

Question Number : 25 Question Id : 2012982279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Excel & AR & TTY ST IC T FA= giea & g

Options:

ll_ﬁ,%a#émﬂﬁ

. % Aot cgafeud a9r

. x THT & WY Ficd

4 « T FHIR 3T

Question Number : 26 Question Id : 2012982280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Rectangular area that includes data series and data marker in MS Excel is called:-

Options:



1 « Plot area
> # Chart title
- % Data label

4 % Chart area

Question Number : 26 Question Id : 2012982280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Excel & m&a0ir oftar formd ger g@er 3t 2o Ardw anfder g@ar ¥, 39 FEd B

Options:

, v Tete Tiar

Question Number : 27 Question Id : 2012982281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A is the visual representation of a pivot table in Excel.

Options:
1 % table

- % power pivot
5 % chart

4 « Divot chart

Question Number : 27 Question Id : 2012982281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. MS Excel # gz afesr &1 737 slafafees &
Options:
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Question Number : 28 Question Id : 2012982282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ layout is vseful when you want to show all the field names as heading labels and aren't concerned about the
width of the pivot table but want o reduce the number of rows.

Options:
, w» DesignForm

> « Tabular Form
z % OQutline Form

4 % Compact Form

Question Number : 28 Question Id : 2012982282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AHTIT 7 IR A & ww  weht ez T # o o F w9 F frmmer o § A
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Options:
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Question Number : 29 Question Id : 2012982283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To prevent ., many systems allow a user lomake mistakes only three or four fmes by enfermg a wrong nsemame
or password.

Options:
, w» tapping



- « brute-force attacks
= % intruder attack

4 w eavesdropping

Question Number : 29 Question Id : 2012982283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Fr e & B0 75 B ggT &1 H9a1 go 719 I7 T8 go e & FHae fe A7 979X
T O H A 2 E

Options:

- T (I TR) HF

z

. TEIERRST AEw

s STEEY FeegrdreT

Question Number : 30 Question Id : 2012982284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A is a financial reward offered by technological organizations to anyone who discovers and responsibly
reports bugs in software or computing services.

Options:
| = Bugmoney

» % Bugprice
- » DBugrise

4  Bug bounty

Question Number : 30 Question Id : 2012982284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AR TR S R T IR e T et S e st R s o o
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Options:

| ® ST Hav
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Question Number : 31 Question Id : 2012982285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How to resize a window to the left of the screen using the key on the keyboard?

Options:
; « Wwindow key + left arrow key

> w window key - right arrow key

5 » windowkey + CTRL key

Window key — ALT + CTRL key

Question Number : 31 Question Id : 2012982285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FHeiTaeel T Foil H 3TART H BhiA & ode AT & 68 #T HHR H8 Taol?
Options:

e T3 + 9o T FEr
o = a

1™

2$§ﬁ€*féﬁ+mw;ﬁ
. (9T ST+ CTRL Foir

fasr &ir + ALT+CTRL a0t

4 %

Question Number : 32 Question Id : 2012982286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
key cryptography algorithms uses single key for encryption and decryption.
Options:

Symmetric
1.«



5 % Personal

2 % Shared

. Universal
4 ®

Question Number : 32 Question Id : 2012982286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Foil FreemhT veriiyA Tfemeas AR Bfreus & e weer Foft &1 393t Far 2

Options:

| v TAEAT

Question Number : 33 Question Id : 2012982287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Plain text file has a format.

Options:
1 ® Ax

o B gt
T R Jdext

4 JIxt

Question Number : 33 Question Id : 2012982287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
O FET BIEA H FiT T BIHS 2T 87

Options:
1 ® .Ix



text

L
®

Question Number : 34 Question Id : 2012982288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Bootable disk means:

Options:

, « disk containing its own operating system ready to load.

- % disk containing another operating system ready to load.

- % disk containing its own operating system ready for troubleshooting.

, = disk containing another operating system not ready to load.

Question Number : 34 Question Id : 2012982288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
geae 55 &1 Far 39 82

Options:
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Question Number : 35 Question Id : 2012982289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the purpose of test completion criteria in a test plan?

Options:

, w Tosetthe criteria used in generating test inputs.

- 710 plan when to stop testing.

5 % Toknow when test planning is complete.



4 ®

To ensure that the test case specification is complete.
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Question Number : 36 Question Id : 2012982290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Here are the steps to to add words that vou frequently mistype, to Auto Correct. Amange them in the comect order.

1. A Coofext menu appears.
2. Assuming that Word flags the mistypad word as misspelled, right-click on it.
3. If spelling corrections are offered in the Context menu, thers should also be 3 menu choice called AutoCorrect,
Choose it and vou will see the same zpelling corrections in the resultant submenu.
4. Choose the correct speliing in this submemi.
Options:
S o g i
e 1,3.4
5> R 2.1.4.3
2314
3=
=3
4% 1,254
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i 1,34

%2 1, 4,3
x 2,3, 1,4
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Correct Marks: 1 Wrong Marks: O
Today, we have several browsers developed by many companies/organizations. However, the first Web Browser was
developed by :

Options:
1 # Jacobs Lan

> « Tim Berners-Lee
- % Marc Andreessen

4 % Mozilla foundation
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Question Number : 38 Question Id : 2012982292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Can you see the download progress when you download a file?

Options:
1 «* Yes

> % No

- % Yes, only in Chrome browser

4 % Yes, Only in Firefox browser
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Options:
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- % B, %ae Chrome F3=X H

. % B, hae Firefox s3eR H
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a modulation technique used for Modem?

Options:
» Amplitude shift keying (ASK)

.
- u Frequency shift keying (FSK)
-  Power shift keying (PSK)

, » Differential PSK (DPSK)
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Options:

| UFcoegs Riwe g (ASK)

i e farre frger (FSK)

2.

graT e figer (PSK)

ce 4

fEmifiraer PSK (DPSK)

4 ®
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Weather has a negative impact on internet users. When it is rainy. <loudy, windy or snowing, signal can easily
be lost.

Options:
; % DSL

> % Dial-up

- % Cable modem

4 « Satellite
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Instructions:- Refer to the example and answer the question:

Example : https.//www.example.com/ to http.//www.example.com/

Question : The process of limiting different application layer protocols is
known as:

Options:

| % URL support

- % URL balancing

= « URL normalization

4 # URL modification
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. » URL @&d=

_ « URL §ga=

- « URL AR

4 # URL Taius
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Correct Marks: 1 WrongMarks: 0
If yvou want alignment to be justified, where is that option available?

Options:
, « InParagraph area

> % In Clipboard area



= % In Font slot

4 % In Styles area
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Correct Marks: 1 WrongMarks: 0
A dual layer Blu-Ray disc can store

Options:
1 % 100 GB of data

- % 150 GB of data
= # 75 GB of data

s 50 GB of data
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. % 100 GB &eT

., » 150 GB T

5 % 75 GB 2T
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Question Number : 44 Question Id : 2012982298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which CPU architecture stores instructions and data separately?

Options:
1 # Von Neumann architecture

> « Harvard architecture

5 = Presper Eckert architecture

4 % Konrad Zuse architecture
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Correct Marks: 1 Wrong Marks: O
What does HTTP stand for?
Options:

w Hypertext Transfer Plotter

1
- u Hypertext Transfer Plot

5  Hypertext Transfer Protocol

4 % Head Tail Transfer Protocol
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HTTP =1 Reaiita & Fr 372
Options:

. = Hypertext Transfer Plotter (FETReaFe THHT Telled)

5 % Hypertext Transfer Plot (gTguicaee QT-HLM ‘-och.}

. « Hypertext Transfer Protocol (BTSUTEHES TTHHT FIEThial)

, » Head Tail Transfer Protocol (85 && ZIHWL WErwd)
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which key is used to execute the selected command?

Options:
, % Spacekey

- u Ctrlkey
5 u Arrow key

4  Enter key
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Correct Marks: 1 WrongMarks: 0
To select all the content of a page, what is the short cut key?

Options:
1« Ctrl+ A
o W Alt+ A

z % Ctul+Alt+A

4 % Alt+Del+ A
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Options:

L ¢ Ctrl + A

o % Alt + A
2 % Ctrl + Alt + A

. # Alt + Del + A

Question Number : 48 Question Id : 2012982302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In any information system. if the data is processed right away. it is called:

Options:
, w Batch processing

o « Online processing
- » Offline processing

4 % Automatic processing
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Question Number : 49 Question Id : 2012982303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The ancient form of an input device made up of paper or cardboard that was used during the first several decades of the
computer industry to store information and programs for computer systems was:

Options:
1 « Punched cards

» % Memory cards
5 % Virtual cards

4 % Data cards
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Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a valid interface for card readers to read cards?

Options:



1 « PMBA slot
> w RS232 serial ports
USB ports

PCMCIA slots

o
®
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Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Digital cameras share an optical system, with a lens having to focus light onto an image pickup device.

Options:
, w digital diaphragm

> % unique diaphragm

- u fixed diaphragm

4 « Variable diaphragm
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Correct Marks: 1 Wrong Marks: O
Some digital cameras can pictures and perform in addition to other image editing functions.

Options:
1 ® pre-process
5 R segment

5 o CI0p and stitch

4 % deblurr
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Question Id : 2012982307 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

Cutie

Powell felt Cutie the robot was different from ordinary robots which did
the single job they were designed to do. He placed a hand on Cutie’s
shoulder and said, ‘Cutie, I'm going to explain something to you. You are
the first robot who has asked why he exists. I think your special
intelligence will allow vou to understand.’

The Earthman opened a square window through which one could see a
vast deep space. thick with stars.

“What do you think that is?” asked Powell.
‘Just a black material spotted with little gleaming dots,” replied Cutie.

‘Now listen carefully. The blackness you see is emptiness which stretches
out infinitely. The little gleaming dots are huge masses of energy filled
matter. We call them stars. Some of them are millions of miles in
diameter unlike our space station which is only one mile in diameter.

The dots seem tiny because they are very far off. Not all dots are stars,
some are planets —worlds where human beings live. The one you see at
the bottom right-hand corner of the window is our own planet — good
old Earth. Three billion human beings live there, Cutie.’

Cutie’s glowing red electronic eyes looked at Powell.

‘Do vou,” said Cutie slowly, ‘expect me to believe such a complicated.
unlikely tale as this? What do you take me for? For me a dot 1s a dot.” He
paused. ‘Look at yourself. You are made of soft and flabby material. It
lacks endurance and strength. You depend for energy on wasteful
consumption of vegetables and meaty stuff — like that.” He pointed
disapprovingly at the remains of Donowan’s sandwich. ‘You pass
regularly into a coma you call sleep. The least change in humidity or
temperature affects your abilities. You are make-shift!”

He rose erect. ‘Look at me! I am perfectly made. I absorb energy directly
and use it without wastage. I am made of strong metal. I am continuously
awake and can stand extremes of conditions quite easily. It is obvious.
You'll agree that if yvou cannot create another being superior to its maker,
your silly explanation is nothing!’

Sub questions



Question Number : 53 Question Id : 2012982308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Powell thought Cutie was different from other
Robots because:

Options:

, w he had asked a question.

» % he got easily confused.
-  he had intelligence.

4 # he could think and talk.

Question Number : 54 Question Id : 2012982309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Powell wanted to teach Cutie about:
Options:

1 % infinite darkness

> % millions of dots

-  stars and planets

4 % Space stations

Question Number : 55 Question Id : 2012982310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Cutie’s brain could register:
Options:

1 % information.

- % Dbignumbers.

5 % many stories.

4 « only simple dots.

Question Number : 56 Question Id : 2012982311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



The dots were nothing but:

Options:
, = glowing particles.

-  Stars and planets.

= % the dear earth.

4 % flying objects.

Question Number : 57 Question Id : 2012982312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Cutie thinks rather of human beings.
Options:

; » highly
o  poorly

- w Vvaguely

4 % lowly

Question Id : 2012982307 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension



iES

sfie & AERE TR B wgfe, wremer T @ e
Toae o= = =R T B s & B o G
iz war o s owgfr & R0 97 gy Tow oftT W
FfE, # WTE FO EEE W OIE | 9 OEe e
It At oA &
e e gy TR OE wEwe 1 FeAtS el
e & v wien GrE & g TaF e 6t
¥ gy wdr fyms ol =y aeh = owEe o

o & go, CwTeEr oA i

g & e B dww e wneh Bed
TAwer fig ek 27 &

W O AT AR S s e e oE AR
e ¥ S oaEE W oW b oge b oo ewees
W, Fan # wy v = & Rwiw fE {7 5 A
e §I = # g0 W mw wet e # F S et
FArE =y F Beie § e e = o A
L

ﬁguﬁﬁ'ﬂ#t&!‘milﬁﬁﬁmﬁgaﬁ
#tl §, 5 98 § - fva, o Aew o 1 fame &
g e A s A dw o e g -
T ST OTET| SE AW 3T AT TE 8, s

FhiE # TAFEE WE TodCiAE WG § SEE & G

Foic # 9y FE, T 9T OHE W W oA #
=frm, wEdT w9y e we @ s we i
¥ HE F oEEEd £ AT T ore fag RE @ #
=y S ARt sie WY bmhy amr oo st e
HEAT W g 1 SR wEAiieE M AEd $ FAT 8
Fm ¥ & fw wftsdt dh omw - 39w &
= R W Bl = owe deiew & SR
et wmt ywier wr Rrom e BafEe s o9 e
#H 7w § B oy Wi o= § YEST 91 A9Rw A
TR SHEHE e srEaret |\ s we o=
A% - Tz #

oF HT T @ o CEe N F g AT ¥ e g
1 ¥ i 3= sweifes W € st R Rl et
Fem orEm am | A Asgm og e ) #
FATATL S O T e e st @ s
¥ oy w wE § T P b A W oe ¥ ween

e e afy s gk Bl & e = e e
=t Ry FEeET e o ol a A



Sub questions

Question Number : 53 Question Id : 2012982308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012982313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The simple interest acerved on a certain principal is € 2,000 in five years at the rate of 4 p.epa. what would be the
compoutud interest accred on the same principal at the same rate in two vears?

Options:

1 ® < 716

o % TT724
3 % 824

< 816

o
%

Question Number : 58 Question Id : 2012982313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

{ = T 716
- % T 724
2 % T 824
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o
%

Question Number : 59 Question Id : 2012982314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What approsimate value will come in plece of the guestion mark (7 in the following guestion? (You are not expected to

calculate exact value)
RO 1199 23T +1397="7
Options:

;% 125

> % 250



Question Number : 59 Question Id : 2012982314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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3899 + 11,99 - 2379 + 1397 =7
Options:

% 125
. % 250
2 « 155

4 % 135

Question Number : 60 Question Id : 2012982315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If the roots of the equation (a — b)x* + (b — ¢)x + (¢ — a) = 0 are equal then:
Options:

1 # Zb=a+c

> % c=a+thb
3 « 2a=b+c

4 ® a—b—c=0

Question Number : 60 Question Id : 2012982315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 #= 2b=a+c

% C=a+b

2w 28 =b+c
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Question Number : 61 Question Id : 2012982316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Train A crosses 8 pole in 20 seconds and Train B crosses the same pole in one minute. The length of Trein A is half the
length of Train B. What 15 the ratio of the speed of Train A to that of Train B?

Options:

1w 312

= % 4:3

4 % Cannot be determined

Question Number : 61 Question Id : 2012982316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 62 Question Id : 2012982317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the given information carefully to answer the questions that follow:

A basket contains 4 red. 5 blue and 3 green marbles.
If three marbles are picked at random. what is the probability that at least one is blue?

Options:

7
1 ® 12
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Question Number : 62 Question Id : 2012982317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

7

1 ® 12
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Question Number : 63 Question Id : 2012982318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What approximate value should come in place of the question mark (?) in the following questions? (You are not

expected to calculate the exact value.)

74% of 366 + 12.6% 0of 317 =7
Options:
1 % 320

5 % 280
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Question Number : 63 Question Id : 2012982318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

frafafem moF & 7o FEA (7) & W 9 3RATeT A S0 g J1eT? (39w T A A

TUTAT FEl FaAT 2
366 =T 4% + 317 & 126% = 7

Options:

. % 320
> % 280
3 % 350

4 ¢ 310

GEMERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

201298270
4

Online
Mandatory
6

6

6

Yes

No

1
201298270
Yes

Question Number : 64 Question Id : 2012982319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Stucly the following arrangement of letters, digits and swmbels to answer the question given below;

ABRTCDOZY*PINMOKSITISNTE

I1 the first element from the left interchanges place with the tenth element from the lefi, similarly second with ninth,
tharedd with eight. fourth with seventh mand so on, then which of the following will be seventh to the lefl of sight element

from the right?
Options:
1.¢ C

2_$3D



Question Number : 64 Question Id : 2012982319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 v C

Question Number : 65 Question Id : 2012982320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following letter-number sequence to answer the question below:

Ea&GBDMANKHZACEZSVIFIILOQSPR

[T every alternate letter‘number is dropped starting from E onwards, then which letterynumber will be the sacond ta the
left of the tenth letter'number from the left?

Options:

1 ® A

Question Number : 65 Question Id : 2012982320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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EEGBEDMANKHZ2ZACZSVIF1JLOQEPRPR
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Options:

1 ® A
o ® B
ST ] Q

4oV

Question Number : 66 Question Id : 2012982321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following word will come second if all of them are arranged alphabetically as in a dictionary?

Options:
; » Hobby

- % Holiday

= % IHoarse

4 « Hobble

Question Number : 66 Question Id : 2012982321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

o er=m fodr 2 & Tl we el # oUW S vy F ONEN IviaEs # mEteyd R A g
Al gAY TS 9T ®iA H WeE HEHTT

Options:

L Hobby

Holiday
2 ®

- Hoarse

4,  HHobble



Question Number : 67 Question Id : 2012982322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following word will come third if all of them are arranged alphabetically as in a dictionary?
Options:

1 = Parasite

> % Party
3 % Petal

4 « Paste

Question Number : 67 Question Id : 2012982322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T ez R &) ol wel eel U IS wewy & HEEN SUiEES H cmatrud R S g
A JET T 97 A ' 9Eg HEET?

Options:

1 = Parasite

5 % Party

= % Petal

4 « Paste

Question Number : 68 Question Id : 2012982323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In the following pair, find two words related to the words already given— one word for each of two related pairs.

I : Lightning :: Sky : II

I (1)Cloud (2)Rain (3) Rainbow  (4) Sky

II (A)Rain (B)Wind (C)Thunder (D) Rainbow
Options:
1 1D

- R 20



Question Number : 68 Question Id : 2012982323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Imllﬁ#m-ﬁmmmmmﬁmsﬂimmaﬁmnﬁﬁem—gmﬂ:mgﬁw?rl
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Options:

1.« 1D
oo® 2C
SR ] 35

4 #® 4:‘55

Question Number : 69 Question Id : 2012982324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Select the option in which the three words are related in the same way as the given words are related to each other.
Herse ; Foal : Mare
Options:
w Sheep : Lamb : Goat

1
- % Lion: Cub : Den

3 « Man : Child : Women

, » Cat:Kitten : Puppy

Question Number : 69 Question Id : 2012982324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
37 foren &1 90w = o &7 e 5@ T § wEiE € 39 Ry v g ve gEr ® wEE
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Options:
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Section Id : 201298271

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298271
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2012982325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Where is the headquarters of the International Telecommunication Union located?

Options:
1 & QGeneva

> % New Delhi
z % New York

4 # London

Question Number : 70 Question Id : 2012982325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FIRSET GT-HAR T HT AEITAT F@l &7
Options:

1. ¥ ==ar

, 76 R
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Question Number : 71 Question Id : 2012982326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ben Johnson (Canadian) was disqualified

in the 1998 Seoul Olympics from athletics.

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.
Options:

; 400m
5 200m
5 100m

4 800m

Question Number : 71 Question Id : 2012982326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1998 ¥ oo e & 39 Faga (Faen) F Fy vwets gt & s oftg s G 7
5T 7

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.
Options:

, 400 m
, 200 m
- 100 m

. 800 m

Question Number : 72 Question Id : 2012982327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The profile of equilibrium refers to the
Options:

, w Profile of a glaciated valley



> % [Iransverse profile of a graded stream
-  Longitudinal profile of a grated stream

4, » Profile along the shoreline

Question Number : 72 Question Id : 2012982327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T TG H HEfHd HLaT &l

Options:
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Question Number : 73 Question Id : 2012982328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Match the items in List-I (Theories / hypothesis) with those in List-II (Related aspects)

List-I List II
A. Geosyniclinal Theory 1. Origin of tides
Geosy

B. Tetraheadral hypothesis 2. Origin of coral
reefs and atolls

C. Stationery Wave Theory | 3. Mountain building
D. Subsidence Theory 4. Origin of continents
and ocean basins

Codes:
Options:
, % A-3,B-4,C-2,D-1
, % A-4,B-3,C-2,D-1

- v A3.B-4.C-1,D-2



. % A-4.B-3,C-1,D-2

Question Number : 73 Question Id : 2012982328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % A3, B4, C2, D1

, » A4, B-3, C-2, D-1

. v A3, B4, C-1, D2

. » A4, B3, C1, D-2

Question Number : 74 Question Id : 2012982329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The greatest concentration of China’s coal deposits is in:
Options:

, » Hopei



> % Shantung

3 « Shanshi and Shensi

4 % Szechwan

Question Number : 74 Question Id : 2012982329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 75 Question Id : 2012982330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The 73'¢ Amendment of the Indian Constitution deals with:
Options:
, « Panchayat Raj

> » Compulsory primary education
5 » Nagar palika

4 # Minimum age of marriage

Question Number : 75 Question Id : 2012982330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Group Number : 2
Group Id: 201298156
Group Maximum Duration : 5
Group Minimum Duration : 5
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 1
Mandatory Break time: Yes
Group Marks: 0
English Typing Test
Section Id : 201298272
Section Number : 1
Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 0
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 201298272
Question Shuffling Allowed : No

Question Number : 76 Question Id : 2012982331 Question Type: TYPING TEST Display Question Number : Yes

SUITUTIEr Carmps are supervised carmps conducted to entertain as well as equip students with various lifa skills
such as tearmworls, socializing, decision making, independent and responsible living and more. [t aids the
overall developrnent of a child and children have fun during this process as they get to explore new arenas.
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English Tvping Test

Section Id : 201298273

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298273
Question Shuffling Allowed : No

Question Number : 77 Question Id : 2012982332 Question Type: TYPING TEST Display Question Number : Yes

Easeball has been called as the favorite pastime of Americans. [t is a game that epitomizes surmimertime in the
United States. People in every major city flock to the baseball diamond, eat hot dogs with caramel corn and
cheer for their home team. If you are a true baseball fan, learning as much about it as you can is something
you owe yourself and the entire baseball community. Baseball originates from similar bat and ball games that
date back to the 12005, [n the United States, the game evolved into what was called as towr ball. The mid
18505 saw a huge increase in the game across America and it began being called a national pastirmne. Almost
after eight vears, the first baseball game was played in Corona, where the andience was charged to watch the
game. The baseball league was formally started in 1876 and became to be known as the Major League
Easeball. After a century got passed, there were two leagues and professional baseball was becorming
increasingly popular all over the country. This period also saw the very first World Series, an event that would
take over the hearts of people all ower America for yvears to come. Professional players frorm all the teams
began to get famous. Sorne of the great players, like Mickey Mantle, Eabe Ruth and Jackie Robinson changed
the face of baseball. Their akilities on the diamond turned themn into national icons. They created a legacy that
continued long after each of them retired. America is not the only country that plays baseball. There are tearms
and players with incredible talent in other parts of the world as well. For exarmple, Canada has a pretty famed
baseball scene too. There are a number of European countries that have bassball tearms as well.
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